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for the questions

1. Answer the following as directed : 1x10=10
were IR o Tes fra

(a) The difference between traditional and
modern logic is not one of kind but of
degrees / qualities / languages.

( Choose the correct option )

AFRITS JF ST SHR@ET Ny
ABIINS 2 IR 2 2 IS / QF7® / SHE
1 |

( w= Rt 3 Sfeear )
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(b) Every compound statement 1s truth-
functional. Is it true?

ATSFH! AfNF IR TGSl FogS | 920G
O ?

(c) PVvq
~ p
" q

What is the name of this rule?

92 R [ 2

(d) Who is the author of the book,
Prior Analytics?

Prior Analytics 9331 fo3s @=2

(e) A conjunctive function is true if any one
of the conjuncts is true. Is this statement

correct?
bl MG Toq o) W IME O A @It
Qb FASE o) 2 | IYEE TS ?

(f) Shorter truth table method is a part of
propositional logic / predicate logic.
( Choose the correct option )

5 I EE oSl St orwfe  Inere
J SHREE / Reas s$Rw@iwe 9ot ooy |

| ( ®= Ra=0 At Shrsar )

A23/759 ( Continued )




(g) Give an example of subjectless proposition.

SrReMAE o 5 TrRRe |
(h) Truth or falsity is a property of logic /

proposition / argument.
( Choose the correct option )

Toresl A3d SPTorel (2 SR / I /
Ffex «f|
( w=m esm A Sfrsal )

(i) Ideograms directly stand for
( Fill in the blank )
g e aerweid _ fomt @
(A IR 7 )
(j) Are symbols and signs same?

Hore W 57 9T A7

2. Answer the following questions in brief : 2x5=10
wHq HNEET 5Y el

(a) Give the definition of a proposition
according to modern logic.

wiyfers SEREW PR I/ @ |
(b) Write two distinctions between logical
constant and variable.

TP I AF 5 A ARTET &S JF 7ol
ALy Tl |
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(c)

(d)

(e)

If A and B are true statements and X and
Y are false statements, then determine
whether the following is true or false

it A W% B A 20 Ge X 9% Y 1L 7,
(O3 e T 7o) o wrey fady #ar
(Av X).(Y v B)

Mention two similarities between direct
and indirect truth table.

ASTF HF AEArE Sorel Slifed[ gn! A=re!
TEY T4 |

Symbolize the following statements :

oo [forges 4O Fre g Far

(i) If it doesn’t rain, then we shall go for
picnic.
I 79y i, comz'e ifa FrerEE
I |

(ii) It is false that Russia has won the
war

925! fam @ IR gagw fafor |

3. Answer any four of the following questions :

A4
(a)

A23/759

5x4=20
#pizd A @I oifeoR Se foe

Write a short note on the characteristics
of symbolic logic.

TGS SHREe WPz R o 5y
Gret fer4t |
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(b) Distinguish between general proposition
and class-membership proposition.

AR Io7 HE @ Frge! /a9 TTo L
CE R

(c) What is meant by interdefinability among
truth-functions? Explain.
TSl FTAPTYRI TS Rk (inter-
definability) a1 & 3=12 A 4|

(d) Distinguish between inclusive and exclusive
sense of disjunctive truth-function.

Rares Torel Fo-1 WEEe e AEhE o
7o {19 w91 |

(e) State the rules of inference that are used

..,..-:...u”:ﬂ—.i"; g “-" R

for constructing formal proof of validity.

YO WBIEE AT N9 IR IR 4

S TR S 39
(f)  Write a short note on the uses of symbols
; in logic.
SHR@Ee o JIRNW W@ @it 55 G
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4. Answer the following questions :

oAy PR Ted

(a)

(b)

A23/759

What is general proposition? Explain the
classifications of general proposition with
proper examples.
AYge o+ [F? TS THIZITAR YIRS I59
codifeeres G 4 |
Or / 541

Discuss the points of similarities and
dissimilarities between traditional and

modern logic.
ATEORITS JEF Y SHR@EI TES I3

APY SF AP ST 3

What is logical connective? Give brief
introduction to different kinds of logical

10x4=40

2+8=10

10

connectives used in symbolic logic. 2+8=10

T WEEE A F7 GO SHwmTe
Jaze @[ Rfers o Az W
AT SISRTGIT |

Or / 91

What is symbol? What is the role of
symbols in translating our everyday

language? 2+8=10

481 79 O el Siere aans w9 SEe
SAM AR CFAS A S A= B |
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(c)

(d)

A23/759

What i1s truth-function? Construct truth
table for the basic truth-functions. 2+8=10

Torel Toq [$97 @ Torrema[d d
Sore! Sifddt stow T4t |

Or /| 911

What is indirect truth table method?
Construct indirect truth table to determine
the validity or invalidity of the following
arguments : 2+4+4=10

orarT erel St F9 oee IR (30!
I EgS! e IR AErE Aope! Sifer!
559 T

(i) (R.QVS
R
el o 0 B R

(i) (PvQ).(~S.Q)
~ S
~Q /o.~P

What is formal proof of validity? What are
the strategies for constructing a formal
proof of validity? Discuss. 2+8=10

AT SRS A [F7 3SR FFRTS
A S5 P 6 & (e awmie 39 2/ 2
A 34l |
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Or / Gl

Construct a formal proof of validity for the

following arguments : 5+5=10

wzﬁszﬂqmmqhmwmﬁmqm
0

(i) (~ K.P)D>(BVR)
~ K D (B > D)

~ KV (R D E)
~K.P ../DVE

(ii) E D (F.~ G)

(FVG) D H
E /.. H
* * *
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